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#coding:utf-8

else:
k+="1"

a- "

b = [102,108,97,103,123,50,56,48,54,49,48,53,102,45,101,99,52,51,45]
for j in range(19):

a += chr(b[j])

print a
#flag{2806105f-ec43-

b H R HO1F R REANE, &7 BMBH—LFRF
BERE%G, BEZWY
FfIFdocxatf, FILAE B|—Hibaseb4F i, Ebase64faE, MM L3RG

#coding:utf-8
def get base64 diff_value(sl, s2):

base64chars = 'ABCDEFGHIJKLMNOPQRSTUVWXYZabcdefghijklmnopqrstuvwxyz0123456789+/"

res = 0
for i in xrange(len(s2)):
if s1[i] != s2[i]:
return abs(base64chars.index(sl[i]) - base64chars.index(s2[i]))
return res

def solve_stego():
with open('123456.txt', 'rb') as f:
file_lines = f.readlines()
bin_str = "'
for line in file_lines:

steg line = line.replace('\n', "")

norm_line = line.replace('\n', '').decode('base64").encode( 'base64"').replace('\n', '")

diff = get_base64_diff_value(steg line, norm_line)

print diff
pads_num = steg_line.count('=")
if diff:
bin_str += bin(diff)[2:].zfill(pads_num * 2)
else:

bin_str += '0"' * pads_num * 2
print goflag(bin_str)

def goflag(bin_str):
res_str = "'

for i in xrange(®, len(bin_str), 8):
res_str += chr(int(bin_str[i:i + 8], 2))

return res_str

if __name__ == '__main__":
solve_stego()
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#! /usr/bin/env python 3.6 (3379)
#coding=utf-8

# Compiled at: 2019-09-04 01:49:32
#Powered by BugScaner
#http://tools.bugscaner.com/
#UIRIZFENEE, 1B FLL R
from numpy import *

from random import random

import turtle as t

t.reset()

x = array([[0.5], [0.5]])

p = [0.85, ©.92, 0.99, 1.0]
Al = array([[0.85, 0.04],

[

-0.04, 0.85]])
bl = array([[0], [1.6]])

A2 = array([[0.2, -0.26],
[
0.23, 0.22]])
b2 = array([[0], [1.6]])
A3 = array([[-0.15, 0.28],
[
0.26, 0.24]1])
b3 = array([[0], [0.44]])
A4 = array([[0, 0],
[
0, 0.16]])
cnt = 1
while True:
cnt += 1
if cnt == 2000:
break
r = random()

if r < p[o]:
x = dot(Al, x) + bl
else:
if r < p[1]:
x = dot(A2, x) + b2
else:
if r < p[2]:
x = dot(A3, x) + b3
else:

x = dot(A4, x)
.color('green')
.color('green')
-up()
.goto(x[@][@] * 50, x[1][0] * 40 - 240)
.down()
.dot()

+ + A+ + A+

hint = "I am not the reverse'
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root@kali: ~/tools/zzctf/stegosaurus e ® €
HF(F) fRIB(E) EBB(N) HEZR(S) L&) #FBIH)

osaurus.py’ f.pyc
Extracted payload: 57f3-8cb4-1add2793f508}
zctf/stegosaurus# python3 '/root/tools/zzctf/stegosaurus/ste
osaurus.py’ x leaf.pyc
Extracted payload: 5773-8 add2793f508}
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